Notes 6-2

Sec1H Solving Systems of Equations using Graphing & Substitution Unit 6

¢ Systems of Two Linear Equations:

We Solue 2cquauhims ot e Same Hmeo

® A Solution to a System of Equations:

e place whye 2 equations inkersect
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Number of Solutions of a Linear System:

Exactly One Solution: No Solution: Infinitely Many
Solutions (e many):
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Solve the system using a graph. Ya
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Steps for Substitution Method:

Stel"@?}!?iv\da Variakle et is casy o goloe for

0

Step 2: Fivd O Nox\2ho\e Hhat 16 all alowe om o alde of
Yhe 2quakion .

Step 3: (1o 4o te other cquation 3 plug in Yhe Ars quise or
Y vaxiable

Step 4: Lolve for twe Vortable Yhat 16 left.

Step 5: 'P\uﬁ in Your enswer §p ove £ Yue ViIgimad
qua.hms 3 g0l for Htue other varianle

Solve the system of equatlons usmg substitution. (2 23
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Solve the system of equations using subs
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2x+3p=5
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2x+2y=3
x—4y=-1

Ex. &: {

—Sx+5y=22
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Ex. 9: {

Number of Solutions of a Linear System:

: : Infinitely Many
Exactly One Solution: No Solution: Solutiens ( - many):
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